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General English
Section Id : 264490595
Section Number : 1
Mandatory or Optional : Mandatory
Number of Questions : 21
Section Marks : 25
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Id : 26449018121 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Read the following passage and answer the questions based on it.

Many great inventions are initially greeted with ridicule and disbelief. The invention of the airplane was no exception. Although many people who
heard about the first powered flight on December 17, 1903 were excited and impressed, others reacted with peals of laughter. The idea of flying an
aircraft was repulsive to some people. Such people called Wilbur and Orville Wright, the inventors of the first flying machine, impulsive fools.
Negative reactions, however, did not stop the Wrights. Impelled by their desire to succeed, they continued their experiments in aviation.

Orville and Wilbur Wright had always had a compelling interest in aeronautics and mechanics. As young boys they earned money by making and
selling kites and mechanical toys. Later, they designed a newspaper-folding machine, built a printing press, and operated a bicycle-repair shop. In
1896, when they read about the death of Otto Lilienthal, the brothers’ interest in flight grew into a compulsion.

Lilienthal, a pioneer in hang-gliding, had controlled his gliders by shifting his body in the desired direction. This idea was repellent to the Wright
brothers, however, and they searched for more efficient methods to control the balance of airborne vehicles. In 1900 and 1901, the Wrights tested
numerous gliders and developed control techniques. The brothers’ inability to obtain enough lift power for the gliders almost led them to abandon
their efforts.

Sub questions

Question Number : 1 Question Id : 26449018122 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to the passage, the idea of flying an aircraft was fo some
people.

Options :
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| » heedless

, % uninteresting

3 v distasteful

4 % Unacceptable

Question Number : 2 Question Id : 26449018123 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

People of their days thought that the Wright brothers had
Options :

_ acted in a negative way

, » acted under negative influence
; » acted irresponsibly

4 acted without thinking

Question Number : 3 Question Id : 26449018124 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

By the end of the 18" century, the Wright brothers’ interest in flight grew into
Options :

% an Action Plan
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, » afoolish thought

3 « aneed to act

4 » anunfulfilled desire

Question Number : 4 Question Id : 26449018125 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Lilienthal's idea about controlling airborne vehicles was the

Wrights.
Options :

|« disliked by

, » accepted by
;  disproved by

4 % proved by

Question Number : 5 Question Id : 26449018126 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The wright brothers almost abandoned their efforts on the gliders due to their
Options :
| = Ablity to design new gliders

Inability to test the power of the glides

4/113



7/14/22, 4:22 PM

s x Ability to develop control techniques

Inability to obtain required life power for the gliders
4.

Question Number : 6 Question Id : 26449018127 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
He has been working for the company January, 2005
Options :

| % during

, « Since

; % before

L% after

Question Number : 7 Question Id : 26449018128 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

the last rainy season, many houses collapsed in the hilly areas.
Options :

% N
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, w Around

5  During

4 % BY

Question Number : 8 Question Id : 26449018129 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
John's elderly parents always prefer to travel car.

Options :

v BY

» % inside

3¥3in

4. % ON

Question Number : 9 Question Id : 26449018130 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
Tilak is university student.

Options :
|« the
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2. @

4 % No article required.

Question Number : 10 Question Id : 26449018131 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
Sarojini Naidu is Nightingale of India.

Options :

2. % an
3. % @

4% No article required.

Question Number : 11 Question Id : 26449018132 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the synonym for the word INDOLENT from the below given words.
Options :
| % mindful

, o lazy
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5 » deadly

4 % significant

Question Number : 12 Question Id : 26449018133 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Add appropriate question tag to the given below sentence.
She attends the meeting

Options :
| % lsn't She?
, % Does She?

3 % Isn'tit ?

4« Doesn't she?

Question Number : 13 Question Id : 26449018134 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

Rekha reached the airport after the flight

Options :
L % has departed

, » Wwas departed
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3 had departed

, » have departed

Question Number : 14 Question Id : 26449018135 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
The principal for a walk in the school ground every day.
Options :

| % Isgoing

, x gone

oes
3.¢ 2

4w went

Question Number : 15 Question Id : 26449018136 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

When the tourists themselves the flower show yesterday, it started
to rain.

Options :
| % enjoyed
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have been enjoying

; » have enjoyed

4 Were enjoying

Question Number : 16 Question Id : 26449018137 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

The Governor the national flag at 8 a.m. tomorrow and

the awardees.
Options :
| hoists, honors

5 % will hoist, will honor

- is hoisting, is honoring

4 % would hoist, would honor

Question Number : 17 Question Id : 26449018138 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
A number of soldiers cduring the war last month.

Options :
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| o were injured

, % areinjured

3 % have injured

4 % have been injured

Question Number : 18 Question Id : 26449018139 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

The Minister, along with his officials the press every Saturday.
Options :
| % is meeting

, % are meeting
3« Meets

L% meet

Question Number : 19 Question Id : 26449018140 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
One of the doors of the bank by the thief who attempted a
burglary.
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Options :

% is damaged

, o Was damaged

, » are damaged

, w were damaged

Question Number : 20 Question Id : 26449018141 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

Neither John nor Peter this book.
Options :
L has read

have read

were reading

. have been reading
4.

Question Number : 21 Question Id : 26449018142 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which one of the following options best expresses the given sentence in
Active/Passive Voice?
Sentence: The invigilator was reading out the instructions clearly.

Options :

The instructions have been read out by the invigilator clearly.

The instructions are being read out by the invigilator clearly.
2. %

The instructions were being read out by the invigilator clearly.
3.¢

L% The instructions has been read out by the invigilator clearly.

Question Number : 22 Question Id : 26449018143 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following options best expresses the given sentence in
Active/Passive Voice?
Sentence: A small boy could not have carried this big parcel.

Options :

This big parcel could not be carried by a small boy.
1. %

. This bhig parcel could not been carried by a small boy.
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This big parcel could not have been carried by a small boy.
3.¢

This big parcel could not being carried by a small boy.
4, %

Question Number : 23 Question Id : 26449018144 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following options best expresses the given sentence in
Direct/Indirect Speech?
Sentence: The teacher told the boy that he was not studying well.

Options :

| The teacher said to the boy,” You are not studying well”.

5 % The teacher told to the boy,” You are not studying well”.

The teacher said to the boy,” He is not studying well".
3.

The teacher told to the boy,” He was not studying well”.
4, %

Question Number : 24 Question Id : 26449018145 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which one of the following options best expresses the given sentence in
Direct/Indirect Speech?
Sentence: The manager said to the clerk, "Have you completed the work?”

Options :
| % The manager asked the clerk if he has completed the work.

” The manager asked the clerk if he had completed the work.

. The manager asked the clerk if the work has been completed.
3.

4% The manager asked the clerk if he have completed the work.

Question Number : 25 Question Id : 26449018146 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following words best expresses the meaning of the

underlined words in the given sentence?

Sentence: It rained cats and dogs last night.

Options :

| % moderately

, w lightly
3 % intermittently

4  heavily
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General Knowledge

Section Id : 264490596
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 15

Section Marks : 15

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Number : 26 Question Id : 26449018147 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

On which day of the year is the National Education Day observed in India?
PBETIS & Blarid oD ITASS Horr SARTNG?
Options :
March 6
S0, 6

January 14
S8R0, 14

September 8
3 % PROR%, 8

November 11
om0, 11
vy
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Question Number : 27 Question Id : 26449018148 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Internet is a
20655¢5 038
Options :

Network
| % w5 JEIG)

Network of Networks
RTS8 ) G008, B8,
(=g (-2 T

Software
2.8 %Q‘EEE

Server
.8 J[58
[« 5

Question Number : 28 Question Id : 26449018149 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

When was India’'s capital shifted from Calcutta to Delhi?
PBETIH Toaerd & JoIE)808® Sosmriod D8 IS pkoh?

Options :
| % 1935
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5 % 1900

L, 1911

4 % 1929

Question Number : 29 Question Id : 26449018150 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

MOOC stands for
MOOC &30 628 Sodn8rsSo

Options :
Mobile Open and Online Course

3333§§£F &, a;ES E;(Jua Eﬁnuugnugfqﬁ

1. %
Massive Open Online Course
TS A8 olBS 5

2.
Media-based Open Online Course
H&ce TD LT «F88 5°5

3. % - .
Machine-based Open Online Course
DT BJ T @ 5°5

4, %
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Question Number : 30 Question Id : 26449018151 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Kangaroo's abdominal pouch is known as

Sorrdh 20y ToE) Soderod i’mg P SRS Ter Beid
Options :
Placenta Pouch
RRoEF Jod

Guttural Pouch
, w HeEdS Jod

Marsupium
3 @ ENvlerSvulevsla)
Synovial Membrane
L% RTINS TS

Question Number : 31 Question Id : 26449018152 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“One class one TV Channel” programme of PM e-vidya expanded from 12 to.

<2 o i R e A ] 3 = g T i
8.000. 3-JEH $owododd el TR wa 8D TRG 12 Dok Q) TID
o

Dotndol

Options :
120
1. %
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, » 200

140

3. %

L« 150

Question Number : 32 Question Id : 26449018153 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Gateway of India in Mumbai was built in honor of
S0orPond® oY SweTto 5 Ty RoEndon?
Options :
King George
v caeiniEle)

Lord Mountbatten
@vg_ ST08) el

Queen Elizabeth
SDEDE oo

Lord Macaulay
=8 Z=T

Question Number : 33 Question Id : 26449018154 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The book “Origin of Species’ was authored by
"l ef W nRR” (ol 8.
Options :
Charles Dickens
=8R G38)

Charles Darwin
T8N oS

Charles Babbage
0% ePIE
3. &

Charles Lamb
4 % P8R P08

Question Number : 34 Question Id : 26449018155 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The name of the virus that caused Covid-19 in the early days of the pandemic is
EENE $I6° &S wolfYS 5DN0DE 3PO8-19 & oo8ngrEId 388 -

Options :
SARS-CoV-2

21113
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SARS-Covid19-2

2. ®

Cov-SARS-1
3. %

SARS-Covi-D2

4, %

Question Number : 35 Question Id : 26449018156 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who among the following was given the Oscar Honorary for Life Time
Achievement in 19927
1992¢° £28 ey POFBore @8 TEPY) FoLITEH?
Options :
Dadasaheb Phalke
| g TR e 8,
Satyajit Ray
, v P88

Aparna Sen

ol RS
3. kS (=

Rituparno Ghosh

. » Be0sst) 558
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Question Number : 36 Question Id : 26449018157 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Union Budget 2022 focuses on how many areas
SoltS 2022 0B aY) Sorrep R DEI.
Options :

w1

Question Number : 37 Question Id : 26449018158 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who is considered the inventor of World Wide Web (www)?
98¢ 28 2T (www) ZRBEMP 588 18R 0?7
Options :
Tim Berners-Lee

LSO e
v 85 35)5) O

Bill Gates
ﬁﬁﬁeﬁﬁ:

Larry Page
o= Tied
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Jimmy Wales
20 IS
-3

Tl

4, #

Question Number : 38 Question Id : 26449018159 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The term Grand Slam is associated with
ol F& &I Sio LIS Jowosool.
Options :
Lawn Tennis

- oy
e E3NE
[

1. ¢

Billiards
&Dmgz,

Chess
witono

Basket Ball

co )l Sl

Question Number : 39 Question Id : 26449018160 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The Sardar Sarovar Dam is a terminal dam built on the river
& J0PS Vopb IS8 oy Aosndod.
Options :
Sutlej

&8s
.

Ganga
Hore

Narmada
eét‘ﬁécﬁ

Brahmaputra
@IRE

Question Number : 40 Question Id : 26449018161 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the theme of the ‘Earth Day 2022'7
‘BT 2022’ @) (Berarodo HE?
Options :

Covid and Planet

| x 508 S0a» (o
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No to Pollution
5 % SPendp BRSO
Sustainable Living

I o :
S850858 &0
-t L.

Invest in our Planet
0% (oS Depnd

4.

Teaching Aptitude
Section Id : 264490597
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 10
Section Marks : 10
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Number : 41 Question Id : 26449018162 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Good Classroom Communication will ensure a

ISP @olod ol 818 10 - &IV DL,
|+, et

Options :
supportive classroom climate
L@ SONENG srErRterld L—’AZ‘}; DEE
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good learning environment
) % S00of) BTV OLCDTER
activity-based classroom
;3 % SPURU0R orrld S0E RO

joyful learning experiences

B5080MP TENDoLNTNN LT
4. % = S

Question Number : 42 Question Id : 26449018163 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A teacher discussing the academic problems of students with other colleagues in the

school is

St ol ﬁi’ﬂ”ﬂ*mtﬁa Th &wﬁa&é Roz0Hols Doy HanReD S8 5D

TR 3E8 wirgroned® 59 *om%‘ss’:um?&n & DB B3 IBAT o

(2% [=8 e =
Options :
Upward Communication

B o

&wééw B0 B3 Eots)

Downward Communication

éﬁ:éé&ﬁ g0 &JS"’E

Horizontal Communication

™ &atﬁmﬂc BoG aa‘mn”ﬁsﬁi

271113
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Grapevine Communication

05328 55 058T
4. % .

Question Number : 43 Question Id : 26449018164 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

One can become a popular teacher among students by
EQmoe &8 58 Emn;tiéa:éé 08D ©ESn PolS BEPTRIEN’ ©AROHBoERED.
Options :
awarding good marks
008 Artnen vato Toe

handling special classes
(BFEDS S8HSeD THLko T

2. % o = £ -

helping them solve their problems

v DTS DRVRORD ”‘“‘*uc:uct-,'ocﬁ‘“ RFCnRGEL0 TPTE

3. ¥ &

giving learning materials

oRrds Yonofoli &Rl santo roe

Question Number : 44 Question Id : 26449018165 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The best way to maintain discipline in the class is to deal with the studentis
DTSHen oD (EDHE5nS somreod wirgruing 08 PILoTDRD wEd
v}

Jrgo -
Options :
affectionately
L% BERICDHOTP BOKL0
strictly and friendly
PLBOMPIR O ) IFIPOSOMPIF Roto

L=

strictly and authoritatively
PN Sorrar oldn ©LPLE0TIr Bolio

politely, but firmly

v SNTUTL, cﬁ;gﬁom;&r EriE aolito
4.

Question Number : 45 Question Id : 26449018166 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The most important element of teaching is
SEIE° es0eS wodo -
Options :
Teacher's Knowledge in the subject

ety ﬁ;{:ﬁxa} DB0H é@@éo
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Teacher-Student Relationship
DERERIOIN0E $m5g§ sotrie Somogo
2. ¢ '

Teaching Techniques

. G568 edwoos Beieben
3.

Technological Aids for Teaching
US55 D@ rN0D oS HESTReD
4. %

Question Number : 46 Question Id : 26449018167 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Effective classroom environment can be ensured by
RDNTH0STI SBHBM0 TEesery) Jptodl -
t &
Options :
lively student-teacher interactions
Dren - SRS 08 I8 B0 B0l SIFEESETN S8
1. \‘.? L= - = 5] ™y s -
advanced technological gadgets
, % OOTSIPN FOTBE HoZToen

pin-drop silence in the class
SEBHLEY Ve ;eSS0

1=

3. %
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high-cost infrastructure

, €8 ST STOS Jhardiren
4.

Question Number : 47 Question Id : 26449018168 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If one wants to become the best teacher, he or she should

JEPT B BITHOND B wd wIrTE IR TTYH0E T8 -

&,

Options :
control the class effectively
SENBIAR HhgHodorr & OHHS® sonsTd.

correct the test papers and assignments strictly
&mﬁ"fﬁ,& 22aee S(FPe SEJOMP uPerRoSto Slovvil 3]

handle the classes humorously

. ausnsnad r“'ﬁp:" CdEorr LEiroTd.
3. >

motivate the students to learn

L “‘mﬁ*rie:““ "50\5’&*‘-' (0D0d.

Question Number : 48 Question Id : 26449018169 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The primary purpose of punishing a student is to

DO 8Zottos® (ZrEE vido DHeod

Options :

Question Number : 49 Question Id : 26449018170 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the students show lack of interest in the subject, a teacher should
Foodo DD/CHP DTBoen B8R 5306EE FPonIHE BEGoMEs Do BATD?

show the teacher’'s authority
BEPEROine) 85 efseoed) (@ Sjlelalate

correct the offender

- -
Q8 Lgrao EOAS &

o
5
A
o
o

[:lak
&9
(N

threaten the other students
T Te! a:ﬂaﬁguzﬁa BAoooSEREd

enforce discipline in the class
SERBROE° B85 wiben Dabeeds

Options :

1. %

make his or her teaching more interesting
o008 ©ld S8orr T3S TARD
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teach with real life examples
FEDE £2805%9 srrdrbnw D

attempt to find out the reason for lack of interest
DTS 8t TIPS oo HEoTD
b

teach with stories and songs

, » 580 oroe, Soonroe 55655 Do

Question Number : 50 Question Id : 26449018171 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A teacher can learn the nuances of teaching the subject and dealing with students from
a8 BEPTInd DRErEY) dov SPLomrd, TRES® Jor HHFloTD OF &g
Do HE Hod FENB B
Options :

Students

T e, i E
Slepyevltalal
o)

1.¢

Fellow Teachers
D3 BErEoine ol

Senior Teachers
SHS GarPEEdine ot
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Principals

L % @RS ool
Physics

Section Id : 264490598
Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 50
Section Marks : 50
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Number : 51 Question Id : 26449018172 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

SV TP, 1
The value of curl grad f where f= 2x> +3y°+42° is

f =2x? +3y 47" 0wy LB (6 f Hend -
Options :

 4x-6yt+sz
1. %

4x1 — 6y] + 8zk
2. %
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Question Number : 52 Question Id : 26449018173 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If S’ 1s a closed surface enclosing a unit volume and be capable of being oriented. then the
magnitude of the surface integral fs r.fids 1s where 7 = x1 + yj +zk and n 1s unit normal to S.
'S’ @I (Bdree Sul HBSro wiBoD X ﬁc%eﬁ 08800 08N HER SeEy

EHM0ASE. vond &aa’.ﬁu:&ti: 22880 JdrEed fs 1. fids ensd.

grf el A - i ,'.ﬂ!
58 r =xi+y]+zk 080w 1’ PHres won JHE
Options :

1.231

-3

4. ¢

Question Number : 53 Question Id : 26449018174 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Find the velocity of a bullet of mass 5 grams which is fired from a pistol of mass 1.5 kg. The recoil

velocity of the pistol is 1.5 m.s L.

25

&

=)

H

& @w¥) 68%owS o 1.6 mst 1.5 88 (EHoed &F) LIS Hod ==PyS 5 (riwe
SSroe8iie T SR EHRTEos?

Options :

; =1
L% 4.5ms

450 m.s
2.9

45 m.s
3. %

4m.s !

Question Number : 54 Question Id : 26449018175 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Theoretical limits of Poisson’s ratio lies between X

aronec Q8 End) Doross Ho&vsen So8r dTmow.
— fle - S _ 2 ok
Options :
-0.5 and 0

| x <0.5 %085 0
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0 and 0.5
) x 0380 0.5

-1 and 0.5
3 -1 308c30 0.5

-0.5 and 1
4 % 0.5 s08cin 1

Question Number : 55 Question Id : 26449018176 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A rod of 1m length 1s moving along its length with a velocity 0.6 C. Calculate its length as it 1s to an

observer on earth? (C=Speed of light)

1 &. iHiie ook 0.6 C. 508" o FED Bond LHenSiod. (P ad) $BdeHir

fed

=R BrER% B8&olol (C=s08 S550)
Options :
l m

| x 180,
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0.1m

4 % 0.18e.

Question Number : 56 Question Id : 26449018177 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The relativistic equation between total energy and momentum :

i s =0 i i &5
88, [Bs@Prre &gy rmiar Habsdao -

Options :

E= MpC+PC
1. %

E=,/M,C+ PC
2. %

E2=M,2C4+P2C2
3.9

E2=M,2C2+P2C2
4. %
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A round grindstone with moment of inertia 1600 Kg m™ is rotating at angular velocity of 6 ms™.
1ts rotational kinetic energy will be
wtido @=oXo 1600 Kgm? & 2.8 Tof RoGPES 6 ms!S°Babh SKo8® 8&ihsod.
&l |goond ¥ -
& -
Options :
28807

1. ®

288 7]
2. %

56000 J

2880017

Question Number : 58 Question Id : 26449018179 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Kepler's third law 1s known as

2050 Tk s Sr@o XD e Beod
* =

Options :

Law of orbits

L% 0% Ronodol Jgo
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Law of areas

, % oz Jonofodd SrgEo

Law of periods
3 v SOE8 ool Jonodods drEo

Law of motion

4 % DoTRE Sowofodd drEo

Question Number : 59 Question Id : 26449018180 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Time period of simple harmonic wave represented by y= sin(2ot +w/4) 15
y= sin(2et +r/4) oo Srfosna P8y Srord)E Sono ) TrosRd -

o L L=
Options :

y] 8
1. %

m
2. ¢

Y
3. %

2 W

Question Number : 60 Question Id : 26449018181 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The total energy of particle executing simple harmonic motion is equal to  at extreme positions
and equalto  at mean position.

D8Y o) Sodos® aot Zmo Tndgo ¥& wodd &‘gféo 5 L8 Lrdo oBaiw
Sl ﬁg:‘ésﬁw .;‘565 _ ¥EE Lo

Options :

Kinetic energy. Potential energy

& 98, %8 48

Potential energy. Kinetic energy
S, 2 o
) qf? Eﬁﬂﬂ %i:i‘ Fﬂtﬁ

Potential energy. potential energy

oee
@2
o,
19
E}’:’P
[:_ﬂ
(]
ché

Kinetic energy. Kinetic energy
4. Y ﬁﬁ %E‘ f/fj t.n_'t

Question Number : 61 Question Id : 26449018182 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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The Fourier theorem can be applied to a function which should have the following condition

2.8 (B30a5rR8 Bod Qodhvo @odl §¥8chs derosel) ©fBgos) BODDHE).

Options :
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Infinite
| % ®Ro&0

Periodic

@Eﬁééo
2.%

Discontinuous
Lirane

3.8 ¥

Nomn-periodic

, B8R0 =08

Question Number : 62 Question Id : 26449018183 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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A tuning fork 1s a
o8 B Sofidn b
Options :

Bar fixed at one end

=X 958 HRodS ﬁ%

Bar fixed at both ends

- Soth J58e LAcdS 28
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Bar fixed at middle
, DBS LRoDS 2Ya)

Bar free at both ends

Doty &80 e a8 56
4.9 e all

Question Number : 63 Question Id : 26449018184 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Frequency of Oscillatory circuit in piezo electric generators circuit is :

558 3}55355 Sloglaton Sochos® Sl Sedho T Eﬁ“ﬁ:@é&c -

Options :
1
2myLC
1. v
by ([
- 2myC
%
1 (o
2wy L
3. %
7 - e
—+/1LC
2T b
4. %
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If the frequency of driving force is the frequency of oscillation, resonance occurs.

o &

FPEE medn TINS5, Eodo Bry: DorRE  oondPih omrtin $oiidiod.

Options :
Greater than

5)5;;3’3

Equal to

) a0

Lesser than
55085
L)

No relation

. oo N Bew.

Question Number : 65 Question Id : 26449018186 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Ultrasonic waves are produced by making use of the  maternial.
oleRPRE EBorren ___ Somd) esdrhodto oo )8 Dohasmomn.
Options :

diamagnetic

-
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Paramagnetic

- a‘U‘:ﬁFﬁ&&E

Piezoelectric

éﬁm@&
3.9

Non-magnetic

@cfa%;oé ;’ng:ﬁa} =28

4. %

Question Number : 66 Question Id : 26449018187 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The average distance between two adjacent heaps gives of ultrasonic waves.

s

D8 ;’Jﬁﬁ &%) Soth Do Er) DGy By Jiied Srdo oerflE
Sorre_ &0 mg0b.

Options :

Wavelength

S8ol B "
1. % R

Wavelength
2

Yelelal Q%;@/Z
2.
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2 X Wavelength
2 X 88on 88, 50

4 X Wavelength
4 X &0 38 s
4. % e

Question Number : 67 Question Id : 26449018188 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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The power of the concave lens of focal length 25cm is
m‘;-;r:w‘.‘éeﬁo 25 o. . B8 Pirsed Eb¥o 03135& %@gm
Options :

4D
1LV

4D
-04 D

0.4 D
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When a point object is situated just off the axis. the aberration formed is called

2.5 Lot 8 S0 dﬁgrrg?&f‘i tﬂf(’jtﬁrﬁ ETNTae E‘Jiﬁoﬁ DHE85»

ot il
Options :

Coma

v Bo|BsR8easdn

Spherical Aberration

AP0 DHEHH

Astigmatism
5 % Loth DJBes

Distortion
s,
@u@@

Question Number : 69 Question Id : 26449018190 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The optical fibers depend on the following principle
)T Sodgen Bod SrEop errdddizra.
Options :

Interference

Dr&XSes0
1. ® (]
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Polarization
ey
) ® CS&ID..-EEIDJJJ

Refraction
s x SESEBw

Total mternal reflection

L ROPPTOSE VTR0

Question Number : 70 Question Id : 26449018191 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If a charged particle 1s moving perpendicular to a magnetic field. then its path 1s
o¥ 8388 X vchaes I8 vonorr SOKR 808 e HES0
Options :

Circular

- Ei@;—tﬂ:‘ém

Elliptical

) % 53 ;')E:,E_?_:‘Eﬁéw

Straight line

|« O6EBw
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Parabola
4 % VTROCHI0

Question Number : 71 Question Id : 26449018192 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not an optically active substance?
Eoba&&® &z Boirded 508 H&?
Options :

Sugar solution

| % ROUmEd (R0

water

Quartz

) A
=0

Tourmaline
[ déi.‘aa
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The radius of the dark ring in Newton’s ring system in reflected light is

DTHER —o&Et éjﬂ;éa5 Boh& R HX%& Hecho &wﬁ; ﬁg&go

Options :
Proportional to the square root of the wave length used.

aSDrNoDS o8 880 B8 ¢ 58 Hrerll oHGHErR SF80S° Botnod.
]

1. ¢

directly proportional to the order of the ring
) Borb Gw¥) (EXrd8 Jorr oS Srdardos® sotod.

directly proportional to the radius of curvature of the lens
. %) JES ¥y aypro-s ST oS Sridrsos® dotnod.

3.
directly proportional to the wavelength of light used
L &ITrNodN cod E80 Qq:;mﬂ ST oS ErHarEos® dotnod.

Question Number : 73 Question Id : 26449018194 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The principle of Michelson interferometer 1s based upon the interference of light by the
division of

POIS 568 Sori¥o Ko Dud oo Tro& SréZdmoD
[ — o — Dt o (-

eodisd dotron.
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Phase

55 (Bf)

Speed of Light
=08 Rifo

Distance

&80

3. %

Amplitude

, o S0 588

Question Number : 74 Question Id : 26449018195 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The average velocity of molecule 1s
e Siito FHSw
Options :

3RT

M
1. ¥
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3KT

M
2. ®

8KT

M

3. %

8RKT

M
4, %

Question Number : 75 Question Id : 26449018196 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Entropy of the system in a reversible process

S80H HBHE® HrHH Bk oD -
B @ &
Options :
Increases

. ulebTabtablata

Decreases

Srodood
2. W 0

52/113



7/14/22, 4:22 PM
Remains constant

anBore totnod
3./ %

None

4 % OB =

Question Number : 76 Question Id : 26449018197 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A quarter wave plate introduces a path difference of between the ordinary and extra-
ordinary ray

zﬁéocso-ﬁ He¥ Frpeden DO oFrpedn S8y M6 HEE

z
g
(X

SORA06.
Options :
wavelength/4

S8oii B8 ro/4
1. ¢ R

wavelength/2

&don 3Y ~o/2
2. % s

wavelength

E¥on 88 o
3. % S,
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2 X wavelength

N 2 X &8ois Qg:;o

Question Number : 77 Question Id : 26449018198 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following conditions must be reached for the occurrence of stimulated emission

BRI arrdo o30SR Lo $BRHE H& T TD?

aer

Options :
more number of atoms in eground state

% & ’3@:@95" J.JE.::;&"; "éos:,:;aﬁ"’ Sl uhiiach )by

more number of atoms in excited state
aSw %e"_’%ﬁ‘ DENSD K:osp;sﬁ"‘ DB ETea)en
: A ;

more number of atoms in the metastable state

Soer QS %E‘aé& Q% Dogrs® HBHrraen

less number of atoms 1n excited state
aBz 8 S5 Logrs® HELresgen
) e

Question Number : 78 Question Id : 26449018199 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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The mean free path of a gas molecule is inversely proportional to
TR BNy Dok _E":J;ﬂ':::aﬁiﬁ Sogisioo 608 DSPSrrarsos® dotnod.
Options :

square of the molecular diameter

ESletvuitach .:.?;_‘_K:o G é@jﬁé&:
1. o

square root of the molecular diameter
ESTavhitacy) ;?Dﬁo s3uvi=7) é@?ﬁmma

molecular diameter

3 % HBSTeR :T_P;ﬁo

fourth power of the molecular diameter.

Eoletuvidach ﬁ;ﬁo OE) m—mgsﬂ STeE8 5300
4. % '

Question Number : 79 Question Id : 26449018200 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Zeroth Law of thermodynamics gives the concept of

ﬁ%ﬁﬁﬁ TR Eroerol Vo (Bod s Ei}&aﬁ‘@_o&
L=

Options :

Enthalpy
| % SOFTE)
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Entropy
) % DTS

Heat

B350
3' B ]

Temperature

" Sal (IS

Question Number : 80 Question Id : 26449018201 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The entropy of the system decreases in which of the following processes?
208 =8S° O (HBahs® HY Tk Jolg*D SrpE0B.
Options :
Melting of Ice

ootk BdHto

Boiling of water

, % D% HBro

Solidification of water

s o O Phessso
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Evaporation of Water

4 % 08 o8

Question Number : 81 Question Id : 26449018202 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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The temperature at which Joule-Thomson effect is zero and changes sign is known as —

@ BEPIS 38 TS 5ol (HerHo T, Hdan Irde SoSeeR) B Votrd.

Options :

Temperature of inversion

DED SREHS

Critical temperature

g eRfs

2. % T

Boyle temperature

3 % SPond GEfS

Joule temperature

&S oS

4. %
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The expression which relates the two specific heats of gas 1s
TS Gw¥) Soth HBPapeH Sonoods P Abiatataruve
Options :

Cp-Cv=R
1. ¢

Cp-+HCy=R
2. %

Cp=Cyv
3. %

Cp/Cv=R
4. %

Question Number : 83 Question Id : 26449018204 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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The dimensional formula for the coefficient of thermal conductivity is

ﬁ%ﬁéﬁﬁé; oo @wy) &mﬁ%&éﬁ

L]

Options :

[ MLT38]
1.¢

58/113



7/14/22, 4:22 PM

[ MT361]

2. %

[ MLT&]

3. %

[ MLT?]
4. &

Question Number : 84 Question Id : 26449018205 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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The surface temperature of the Sun is

L = S v T o o
RSy S aNdde aiid Trry
Options :

4000 K

1. %

6000 K
2.¥

2000 K

3000 K
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Question Number : 85 Question Id : 26449018206 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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The electrostatic force between the two charges of magnitude 2 C and -1 C separated by
a distance of lm 1in air 1s
DS 2% Soel Br8o8” T DohoéP 2 C H508a%» -1 C Bod gjci:ﬁmﬁfa“&: el
?gfﬁ&ﬂﬁ:&é 20855300
Options :

18x10"°N

1. %

18 N
2. %

18x10° N
3.¢

18x10°N
4. %
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Electric potential at all points on the surface of a conductor is
B0 Bd08wop ol dothPe HG DRLS K
Options :

sanie

QTR0
1. ¢

not same

TR0 =R

Z2T0

oo

3. %

Infinity
LRo&Eo

Question Number : 87 Question Id : 26449018208 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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The value of the coefficient of coupling lies between
Fofs Moesfo Dend D8 50y Botnod.

Options :
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1l and 0

1 28ci 0
1. ¢

—1 and 0

-1 508a50 0
2. %

—land 1

-1 8ci» 1
3. %

1 and 2

1 250:8c50 2
4. %
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Quality factors of LCR, ac circuit, Q 1s

LCR Sechod® Q hodo Dend
Options :

EC
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Question Number : 89 Question Id : 26449018210 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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The relation between emitter current amplification factor (¢) and base current amplification

factor () is

Cloue xS SPS thee¥o (o) HBAD ored DS égfé oes¥o (B) © 08 Somogisn

Options :
o
P=is
1. ¢
1+ec
P~
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_l=
P==
3. %
o
Pt
4. %
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If A and B are two variables then A+ B =

A 0800 B en Bodth 58 oedheoon® AL B =

Options :

A+B
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If the orbital quantum number 1=3, the possible values of m; are

st

e8)trd srobo Sogy 13 wond, my Co¥) T Densden
=4 L =

(s
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Nuclear force 15

Zo[SE nedn oI

Options :
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spin independent only

v (Fheo B SR eErdHEd

1. ®

both electric charge and spin independent

DEpTrEdo HBA sd)Fkino Bodod P BEEBEd

2. %

spin dependent but electric charge independent

©8) (o errdid gjiﬁaamévﬁo@ [l npleolata®
3.¢

electric charge dependent

L % Sjc:ﬁ:;m'-*?;%ofag Srdathihod
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The total probability of finding a particle i the entire space =

-

A0S0 Deod” ol Xl XH0iTR JwEo Sogrard =
o i (== — e

Options :
Zero
BR300

1. ®
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Infinity

ooso
2. ®

one

!

non Zeroe

rﬁ:nr‘ﬁ;c ==&
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In Raman spectra. the lines having wavelength greater than that of incident wavelength

are called

-

TR H3Bed” HEY S8or B

ey S el ~ by ; L.
{j@c Lo& L S8on Qqﬁﬁmo &) Spoi DOt
Options :

Stokes lines

FE\ Bpen
1L =

anti-Stokes lines

SSrof -5 Been
2. % >

67/113



7/14/22, 4:22 PM

scattering lines

28T Hee Dyen
3. %

Compton lines

?0%5 Baen

Question Number : 95 Question Id : 26449018216 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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The nucleus is stable if the binding energy is

So|%o B¥orr eyt Bodon 85 Botnod

Options :
small
ALV

[

1. %
large
Frlalas

]

2.¢

ZE10

%
o
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not defined

L&BoNnEEsn
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When a particle 1s 1n one dimensional box, then energy of the particle 1s

D% Qnéch 33%955 e ¥ Spdn X 88
‘ i

nZh?

g8mzag?

nZp

gma?

4. &
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When an a- decay takes place. the nucleus of an atom decreases by
O- S8 wBABHD, HELEre ToEEos® Bob Devdies Srhs=on.
Options :

Atomic number 2 and mass number 4

DB ;éoaa; 2 08a% @55&?1&5 ﬁo% 4

Atomic number 4 and mass number 2

Q0BT ﬁoaa; 4 08050 @é;w«ﬂ ﬁoa;;_ 2

Atomic number 1 and mass munber 2

SBsree Dogy 1 08diw (Ba;Te8 Doy

| ]

Atomic number 2 and mass number 1

SBswree Dogy; 2 08diw (Baoed Doy 1

Question Number : 98 Question Id : 26449018219 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The dimensions of the Poynting vector are

Troxofion 588 ﬁoﬁ; Soeen
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Options :

Energy x time X area

& x wo x FTero
i e e}
], %

Area / energy X time

- s
socero [ 88 x oo
o 2 e

2. %

Energy / (area x time)
<8 [ (JIzFero x ="©0)
=0 il ]
3. ¢
Volume X energy / area

PoXBBIre0 x FE / STL0
4. %

Question Number : 99 Question Id : 26449018220 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In a circuit containing pure inductor
HE (285 Sedbo ZON aF) Il -

o

Options :
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Current lags behind the voltage by 90°

xBodd "'5'5"-“‘1:355 90° FoLHE dotnoed.

1.¢

Current leads the voltage by 90°

XBoed & % 2 90° Hnod dotnod.

Voltage lags behind the current by 90°

“'“"’E'Q B0ty X0f 90° THoXnd actnod

Voltage leads the current by 180°

S8R 2BotnD 180° LwoHhad dotnod
4. %

Question Number : 100 Question Id : 26449018221 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to Meissner effect. in the superconducting state a material behaves as.
e

38 Bardo (Hoo8o w8T=E %’:r"_&ée X q:nm‘éc:: 2od =0 (H58ch.

Options :
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Paramagnetic

wtan @dfa%;os‘.‘éo

1. %
Diamagnetic
Bodr echPosEo
2.9
Ferromagnetic
2(8° ochFogo
3. % =
Ferrimagnetic
2|8 vchamoso
4. % "
Chemistry
Section Id : 264490599
Section Number : 5
Mandatory or Optional : Mandatory
Number of Questions : 50
Section Marks : 50
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Number : 101 Question Id : 26449018222 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Diborane on hvdrolysis gives?

5 B8 =odBle DOIHE NEUDHE?

Options :
BiNsHs
1. %

BC;
2. ®

H;BOs
3.9

HBO;

Question Number : 102 Question Id : 26449018223 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Number of sigima and Pi bonds present in ClO4™ ion

ClOs ©dirS Soth fe R $ddin P womre dogy

Options :

dg&dm
1. %
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do&2m
2. %

40&3m
3.¢

3o&2m

Question Number : 103 Question Id : 26449018224 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which is an amphoteric Oxide
Bod =&&° 2B &drgrd )6
Options :

S0O»
1. %

B:0s
2. %

n0
3.¢
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Question Number : 104 Question Id : 26449018225 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
The example of pseudo-halogen compound 1s
Qogres rStas DR BoerSe
Options :
Cyanogen
P

e
—

1. ¢

chlormme

bromine

3 L@ag\"og

lodine

4. B @CEF&E-J

Question Number : 105 Question Id : 26449018226 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Total number of valance electrons present in Mn (CO)s of metal carbonyl complex is

Mn(CO)s 95566*:*5”::@5 ‘efﬁoé%‘f?e_:é"' o) dwngo B &)@.}l_..?;iﬁm ﬁoa:a

Options :
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18 electrons

18 Dol

17 electrons

17 o=
2w OGN

16 electrons

16 delged

15 electrons

15 delgi

Question Number : 106 Question Id : 26449018227 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

How many bridging CO molecules are there in Fes(CO)12

Fe3(CO);2 &° 7788 CO emden W) dTnon?

Options :
1

1. %

2. % )
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L)

Question Number : 107 Question Id : 26449018228 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following 1s most stable free radical?

808 TES° DB ©BE JEDE ) [@B8HHE?

VR,

Options :

Oron
2.9

Chon
3. %

o

4. %

1. %

Question Number : 108 Question Id : 26449018229 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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In carbenes, singlet carbon atom believed to have

?éﬂ}ﬁ@ﬁ, D2E %‘JE& ?53‘}5 3850y XOA 6ol grdrdn
Options :

sp hybridization

| % SP So%BESes

sp” hybridization

) sp’ Ho%B%8es

sp’ hybridization

3 % sp’ HoX8%8e

sp’d hybridization

L % sp’d BoXb%8e

Question Number : 109 Question Id : 26449018230 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The electrophilic addition of carbon-carbon double bond leads to type of intermediate.
TEI-E)S Srwossn Tk 5}&}@;3@5 HoXesn HoerosTeR8 roékod.

Options :
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More stable

X VS0
[ %)
1.

less stable

ST BE& W

2. 8

least stable
@& ét-‘a&é %355;5333

3. %

none of the above

2 = 26 =%

15,

4. %
Question Number : 110 Question Id : 26449018231 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is the strongest base?

Bod TEE° 28 Dol FBEw?

Options :

™

1. ¢
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2. %
Eiij:)ﬂri
3.8
o®
4. % "

Question Number : 111 Question Id : 26449018232 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The most strained cyclo alkane 1s

©&HE 2088 (BArS Mo Hodh ST,

=3

Options :
Cyclobutane

o
DB a®S
DF 207

1. ® ]

Cyclopropane
2= 55

2. &

Cyclohexane
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Cyclopentane

8 20088

fed

4, %

Question Number : 112 Question Id : 26449018233 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A pair of stereoisomers which are not mirror images of each other are called

fow, 08 Lowren =0 ¥ 28 (BEcd %cﬁé%ﬁ;&:& ©otrss.
Options :

Enantiomers

-L__nu oy -\.
| w OF %@F@Dﬁ,

Diastereomers

rlovoirv[a]oneireelah
2. % = s

Metamers

DoerSoB)

3. %

Racemates

B30
L= ol

4

Question Number : 113 Question Id : 26449018234 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Among the following the highest resonance energy heterocyclic 1s

Bod D8 Jeahines® ©fs BEIN) 8 Ked.
Options :
Furan

. > -
| ST

Thiophene

) o EBHS

Pyrrole

All are equal
ol odl Jirdo
4. % TS

Question Number : 114 Question Id : 26449018235 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The catalyst used in Friedel craft’s acylation is
2. =]

BAES ] ©RTISE” T8 a@ sk

Options :
Acid chloride

1$@f£ﬁ5
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benzene

Dose

2. %
Anhydrous aluminum trichloride
@E‘Lﬂé worddobho BEBE

! 2 %-_ [ 8

3.¢

carbon tetrachloride

Question Number : 115 Question Id : 26449018236 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In crystal system. 1ons are displaced from its regular position to mnterstitial position 1s
R0 B8 wariy ol Frordes 0 Holl vomodd FelE 8igiodo

NP
Dosko w3 -
Options :
Frenkel defect
(@088 &%
1.¢

Schottky defect
e E%50
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Line defect

Edge defect
L% woth &%d0

Question Number : 116 Question Id : 26449018237 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In Bragg’s equation for diffraction of X-rays ‘n’ represents

X- 88cren DHED (e S EBeedine®n’ K JrdoHie.

Options :

The number of mole

Sroe Hogr
], % i

Ql‘lﬁlltlllll number

S=10€0 ;3025:5_

The order of diffraction

DIGHY (oo
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Avogadro Number

ISrE Sogr
(=

Question Number : 117 Question Id : 26449018238 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

For one mole of a gas, the ideal gas equation is

2.¥ B TR0y ¥ e A0y DR So -

Options :

PV=RT
1.

PV=3/2 RT
2. %

PV=1/2 RT
3. %

PV=5/2 RT
4,

Question Number : 118 Question Id : 26449018239 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The average kinetic energy of the gas molecules 1s
SO0y VP ¥ Sifew KSEE
Options :

Inversely proportional to its absolute temperature

R H85 AP DS ErarEos® aotnod

1. %
Directly proportional to its absolute temperature
, =R D8 BEPHSD S eEirdardos® dotnod
2. =
Equal to the square of its absolute temperature
=0 H8 wElIE Sl Sdore eoinod
3. %
Directly proportional to the square root of its absolute temperature
TR DB BEPHS SPNorerDE P ESrHTrE08® aotnod
4. %

Question Number : 119 Question Id : 26449018240 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Predict the products in the following reaction.
& (ol zﬁtﬁ;@&ﬁ- Boirameey dirotod

/ 4+ By, BCTOM A4 B A&Bis

Options :

Br>—_( H’.!,C{} /
Br Br

1.
Br, .f HO :f
Br OH
2. %
Br. HCO
,: OCHs f’ o: CH,
3. %
Br. Hﬂﬂﬁ: :‘
Br OCH,
4.%

Question Number : 120 Question Id : 26449018241 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which among the following under goes addition of bromine easily?

Bod =RS® D8 SRS DewHrr So¥wo =H

Options :

2. ¢

Question Number : 121 Question Id : 26449018242 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which among the following has a three-electron bond?
Bod =RS° Lorid QoK He DoFLnHd =67

Options :
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NO
1. ¢

Question Number : 122 Question Id : 26449018243 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

How many grams of glucose are present in 100 ml of 0.1 M solution?

100 .9. 0.1M [deod® Q) (riwe KEREE dotnod

Options :
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18 g
4. %

Question Number : 123 Question Id : 26449018244 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Milk is an example of

Sren 2 aedrdon

Options :
Sol

emulsion

n

a“{\.-\. 5
(o B
3. % =

frue solution

Qe (oo

Question Number : 124 Question Id : 26449018245 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
91/113



7/14/22, 4:22 PM

In an adsorption process unimolecular layer is formed. It 1s

©8 i PBDE® DB HBErew P8 B )hdod. ©d -
Options :

Physical adsorption

FTEE wb S hmo
], %

Chemical adsorption

> Echd o685 %mo

IDIi-excllange

Chromatographic analysis

B3 (2E 00
4.%

Question Number : 125 Question Id : 26449018246 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The LCAO calculation shows that greater the overlap of the two combining atoms the energy 1s
o8, 8.5 E&éﬁ{}j ($5=80 Boh HB&renDe Ewowd Hg o @878 DN
@ DBdrewe S50 zer Srbdod.

Options :
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Increased

28hok
1.

decreased

-~ éf;}c&

not changed

G

null

4 % BP0

Question Number : 126 Question Id : 26449018247 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The bond order of Beryllium molecule is
Z6DCHho ey 5;-_ 208 (X0w
Options :

1.%1
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0
4.

Question Number : 127 Question Id : 26449018248 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Huckel rule of aromaticity is

058 ABTHrREHE Dafshdw

Options :
4n wt electrons
An 7w doTRR
1. F e B

(4n+ 2) « electrons

(4n+2) T Jo5°R2
2. ¢ P

(4n+4) n electrons
; ; ™ — e
(4nt4) 1 JOITTRY

3. %
(n+ 2) m electrons

m+2)=x Q@.}LE@
4. %

Question Number : 128 Question Id : 26449018249 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Pyridine reacts with a mixture of HNO3z and H2SOs at 300 °C to give
845 300°C E.SCQS HNO; 308cin HaS04 & @J{_%i:}&ﬁ::ﬁa 5%, 268 ;'Jﬁm“,é{ﬁ}ﬁ&a -
Options :

1- Nitro pyridine

2- DETPHBES
2. %

4- Nitro pyridine
4- JE*HBES
4. % = =%

Question Number : 129 Question Id : 26449018250 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is Baver’s reagent

50‘5}5& 8RS ofds
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Options :

Alkaline KMnOy

a‘*&h@e_a EMnQO4
1. ¢

2. 4-Dinitrophenyl hydrazine

2, 4-BRE*HIS KRS

Copper acetate/ acetic acid

=08 028/ 0EE oD

Ammomniacal AgNO3

oI5 S AgNO;

Question Number : 130 Question Id : 26449018251 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Paramagnetic nature of oxygen is best explained by

eSS o), doe @@%‘;oé Srer s oroe o §36E80D S,

Options :
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Valency Bond Theory

&

SRy 0OF AFOoSIW
]
1. %
Molecular Orbital Theory
wenedird dorodsn
2.¢ " e
Hybridization

HoXBXESe

3. %

Valency shell electron Pair repulsion Theory

SBR) o YT wob HEL vErosiw

Question Number : 131 Question Id : 26449018252 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Among the following which metal carbonyls. the CO bond order is lowest

Bod T&S° D S 55300 CO DoBEshsn weEnrr Both

Options :

[V(CO)sl
1.
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[Fe(CO)s]

[CV{:CO)L;]
3. %

4 % [Mn(CO)s]™

Question Number : 132 Question Id : 26449018253 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is an amorphous solid?

Bod =&S° s

Options :
Graphite

(e
1. %

Quartz glass

:ﬁﬁ o
2. ¢

Chrome alum

3 % E% sof

L Joeddn 28?7
L
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Silicon carbide

D=0 ?5&5
4, %

Question Number : 133 Question Id : 26449018254 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The atomic number beyond 92 are called
92 &R SBdoeew Jogry _ wodrd.
Options :

Uraninm elements

G0t cHho Soresren

transuraninm elements

Ers) CoBlaho Suresren

non-radiative elements

@ﬁm;é SareTRen

transition metals

58588 SFen
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Question Number : 134 Question Id : 26449018255 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which ot the tollowing halogen compound used as antiseptic?

¥do Bozrddsor sthmd?

Options :
Chloroform

S5 55

TIodoform

LOHEPTES:

carbon tetrachlonide

S8~ BErEB6E
[an

methylene chloride

20898 £BE
4, %

Question Number : 135 Question Id : 26449018256 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The halide compound which is most reactive towards nucleophilic substitution reaction is

- -

W*Ecﬁﬁ?pi}“ LstRliloy & HBEorTeS SleiSlels '*ES -n:'w:] FHsSw -

e,

Options :
Chlorobenzene
SeRle st

.8 7
Vinyl halide
&'JE@S E*EQS

2. ®
Allyl halide
©8S FBE

3. ¢

Iodobenzene

OTrE Tois

Question Number : 136 Question Id : 26449018257 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Luca’s reagent 1s a mixture of

erTrR S=8E0 SBo%), Eo(FSoeso.
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Options :

Zn + HCI
1.«

/n + HBr
2. %

Pd + HClI
3. %

Zn + HCl +Hg
4,

Question Number : 137 Question Id : 26449018258 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Phenol 1s a stronger acid than

S ol el ofpsn

Options :

Nitrophenol
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Resorcinol
3 &ﬂéar:]m'-* 5
Carboxylic acid

=558 \DE eso
g% =" Fs

Question Number : 138 Question Id : 26449018259 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is formed in the Bayer-Villager oxidation ?
Bobd =&&° 28 8585 ?—a; SET oD EUHDE

Options :
Amines

B

Esters

2355

Ketones

£ sebg
H=ge=
S
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Aldehydes

SO
4 % o !

Question Number : 139 Question Id : 26449018260 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is most basic nature
808 ES° o808 T8ibmo KOAKS
Options :

m-Nitro aniline

| M-S VO

o- Nitroaniline

, x 0BT ©RO3

p- Nitroaniline

p-B&° O
3. %

dinitroaniline

, x 8 S o008

Question Number : 140 Question Id : 26449018261 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Malonic ester reacts with urea in presence of POCIs to give

HEEQE @0 POCh S0Es5ng” GBS &® iﬂfﬁ;&"‘o& ﬁéﬂ}dﬁ‘bﬁ&.
Options :
Veronal
28>=S
1. %
Barbituric acid
2808 espsin
2. ¢
Luminal
e
3. % =
Parabonic acid

, x OIS espin

Question Number : 141 Question Id : 26449018262 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of following does not obey the EAN rule?
& Bod T8S° D8 EAN QohdrQ) ar&osin?

Options :
ky[Fe(CN),]

1.
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ki[Fe(CN)g]
2. ¢

[Co(NH3)6]Cl5

3. %

Ni(CO),

Question Number : 142 Question Id : 26449018263 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The IR stretching frequencies of RC=N is found in which region (in cm™)
RC=N &%) IR &rHés &P dsdmo @ ([@rodod® Koo (Ro.&. o).
Options :

2300 -2100
1.v

12500 — 1400

3590 — 9420
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2650 -2950
4.%

Question Number : 143 Question Id : 26449018264 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

On Increasing the dilute solution. the specific conductance

DOSE 28BN Fob DBRrrEE
Options :

Zero
- ErRro

Increase

FlebTabIny

Decrease
S
3.9

Remains Constant

%émrﬁﬂ aothdn
4, %
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Question Number : 144 Question Id : 26449018265 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Two solutions with equal Osmotic pressure are called

BN S SNy ot [Eritrerh ©otr80.

[sotonic solutions

Q5 (BedareX (mrsicrren
1.

Hypertonic solutions

©8& (BiardE [Tmdoren

Hypotonic solutions

oo (BardT0E (e

Normal solutions

Grdevpatal[aulonid 20

Question Number : 145 Question Id : 26449018266 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

108/113



7/14/22, 4:22 PM

The emf of a galvanic cell is determined using a
e obdn emf ——- & adTrAod Ec;&%_‘;éa.
Options :

Potentiometer

BT oed
1.

Voltameter

AT RYS)

o
et

Coulometer

Xt Dnend

Ammeter

@é':béé.:ﬁ

Question Number : 146 Question Id : 26449018267 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following will decompose on passing electric curent?

Eod Td&° D& DEpED JobBIPH Do VoEros
Options :
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Glucose

e
1.33&:“&.

Urea
dogeB o
2. %
Silver nitrate
B = TS
3 o NE'.:JN':J EIL_EEQJ

Ethyl alcohol

. 'ﬂ"/"'a y
L% =tal] ©O)RFS

Question Number : 147 Question Id : 26449018268 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Phase Rule states
@éﬁs Qdhsen 20 Benayn.
Options :

F+P =C-2
1. ®

P =042
2.¢
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B =P

F+P+C=2

Question Number : 148 Question Id : 26449018269 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

3 : RT T s - .
The Nernst equation E = EY — Z=In0 indicates that the equilibrium constant K¢ will be equal to
q P 1 q

Q when
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Options :

E=E"
1. %

|
2. %

E=1
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Question Number : 149 Question Id : 26449018270 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A reaction i1 which all reactants are in the same phase 1s called
28 S58° ST Eairaise o8 @RPS° eolird) 58 OO,
Options :
Elementary

(DK

Bimolecular
Eb;@:a:aﬁ
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Heterogeneous
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Question Number : 150 Question Id : 26449018271 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arrhenius Theor}f 1s applicable only to

©8RHT drpodsin % SeEH S8
Options :
Weak electrolyte
- neied r&;@;qﬁ_ 9]

Strong electrolyte

Dol o E"@eﬁ

2. %

Non electrolyte

wd&rE 3 Soessn
3. SO #

Botha &b
4 % a&Db en oo
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